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Part I / Y91 I
Mathematics / TfUTq =
1.  Let f: R5R be a function defined by [1. HMIf: R-R T& %od § St
ol _ o
flx)= ——,——— then fis : fl)=———— ETITI Renfia 2, @ 7
e’ +e e* et
(1) one - one and onto. (1) THheh! a1 T=S1EF T
(2) one - one but not onto. (2) TEH T T DT el ¢
(3) onto but not one - one. (3) T=BICH © W Uheh! &l |
(4) neither onto nor one - one. 4) AN EFHIEARTA =B ¢ |
2, If |z1| = |zy| = |z3] =1 and 2 ﬁﬁiz1|=|zzl=]z3|=l qdn
21 tzy+tzy= V2 +i, then the number 21t zytzy= J2 +i @ gem
2120 + 2323 + 7377 is : 2122 + 223 + 2371 :
(1) a positive real number (1) TS grcHA+ ardfds §& ¢ 6
(2) anegative real number (2) UF RUTHE adfas 9@ g1
(3) always zero s () WA TI
(4) a purely 1mag1nary i‘lumber H%}L:qﬁ"l (4) U S wedHis g 2|
- ¢ 03y ay
3.  The values of l:lfor wh\i;ch each root of the | 3. k& 3 99 o GLRELIETY
equation, x2—6kx+2—2k+9k2=0 is x2—6kx+2—2k+9k2=0 F TAF e 3
greater than 3, always satisfy . the s} g1 §, =1 et (inequality) 1 T
inequality : ég’“ + \ ; I AT © :
(k. 7=8y=>0 ﬂnglg%fz 9k 8IS0 (1) 7-9>0 227
(2) 1m1-9%<0 ’@k-" w17 0. (2) 11-9y <0
@) 29-11y>0 g},;_ _ 3) 29-11y >0
O DM e | @ 3w
| )%C* 2) - gr(kg)-\_‘}j} T3 PkaYk-5 7b(‘; b, e by :
R LetA—_d and B= |, bJ. If | 4. mrnA:[O 1] qUT B= [b b}%ﬁ -
%)Qév yo  10A10+adj(Al%) =B, then b, +by+bs+b, 10A'0+adj(A1%) =B R, M by +by+bs+b,
— is equal to : TR
(1) 91 (1 91
& 92 (2) 92
(3) 111 @ 111
4 112 4) 112
W/Page 2 SPACE FOR ROUGH WORK / Tt #Td & feru srrg
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5. The system of linear equations 5. fas gHisw fem
x~y+2=1 x—y+z=1
3H°ff; e =z=0 x+y—z=3
x—4y+4z=a has : - x—4y+4z=o FH/% :
| (1) a unique solution when a=2. (1) T 3Afgdg e € T a=27%
I-I (2) a unique solution when az—2. 2) TF g T € 99 ax—2 T QJ:‘*‘
3 (3) an infinite number of solutions, (3) IEHATAE Tda=27] e ™
when a=2, ;_w;l_,qa'xgt,LJL
(4) an infinite number of solutions, (4) THSETAE Tda=-2%I - @
= -2
o4y Q@ L]
LB
6. Leta, b, ¢, dand e be real numbers such | 6. HMla, b, c, dddl e'@@ﬁ IRfas HEAU g fﬁ
thata>b>0and c> 0. Ifl, %,larein a>b>0dMc>07TI "‘Tﬁ{ E l@
a c c
AP, b, ¢ darein G.P. and ¢, d, e are in gHIa ’%’Gﬁﬁ 4 b,c,dﬁa?ﬂ'ﬂ'ﬁﬂ? aﬁ?{'ﬁl T adq
2
AP, thenL2 is equal to : ¢, d, e TH GHIR 94 1 &, a‘r
(2a — b) | \ 24— b)
Iy . Y ,
C z bA _ia) 3 O~ @ % .
(1) « 2ne o 1) c
- i ' e
2 @) Jde ki @ Jde
208 ;e
| @) e aA+ At (3) e
4) (4) d

K=1 k=1 ¢ &) .
TR pit
= ) &
20 Q0
gy +&,L"‘J e
2) 220 | ==— T—1'3 =
& _| % s Vil
® 15 = f_:A
(4) 110 f / w; ;
SPACE FOR ROUGH WORK/mEﬁﬁ;mﬁ
5 o s 4 8/ {
o y /f-};-—} 4 b B
ni“pﬁl —}_h'/g,lm'\ g./wz‘D~
= e %
) .
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8. Ina car with seating capacity of exactly
five persons, two persons can occupy the
front seat and three persons can occupy
the back seat. If amongst the seven persons,
who wish to travel by this car, only two of
them know driving, then the number of
ways in which the car can be fully
occupied and driven by them, is :

(1) 360
(2) 60
(3) 240
(4) 720
9.  If in the binomial expansion of

(I=x)™ (1+x)", the coefficients of x and

x? are respectively 3 and —4, then the

ratio m: n is equal to b _.\'f"\(- Fe \H
1) 10:7 4o r\ﬂ—)\} |+ )
2} 8 1 '?"l‘f
(3) 10:13
4) 7:10
sinx cosx tanx
10. If(x)=|x> 2 x |, then
| 2% L. L.
lim f() 4. ‘-1»\ f:ﬁ-jh{,,hx%
x>0 7 " =

¥ it }
// | il

2 Yia o £+
S s PR SIT 'Y WPAGV-

—_ ijﬂf\ o ‘)"7[5 L-E\/n’)“
| T %L’(;'La\q{"
. *22" oo — LW

10.

TF &R, 599 9200 (exactly) W safm s 1

THhd €, 3 A orelt T W 35 wod §
a1 1 = et de w3 g &1 afe
7 <A, S 39 FR R 9501 3T 9ea £ H 9§
He, 9 R Ol o ® a9 3= R werrs
S, § e

1) 360
@) 60

3) 240
4) 720

(1-2)™ (1+x)" & fgue vaR § 3fe » g7 12
< TUTTeR SHHRT: 3T — 4 €, T m : n T S
TR T

(1) 10:7
2) 8:11 1
(3) 10:13
4) 7:10

sinx cosx tanx
MW= ** ¥ x|

2x 1 1

lim (%) O B -

x—-0 ,1‘2
1) 1
2 -1
@) 0
@ 2 Cen ©

W/Page 4 G
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Let f(x)=[x] where [x] be the greatest
integer less than or equal to x,

0

(
|
8(x) = ]l.\‘z ., xe R—Z

y xeld

Z is the set of integers, ¢(x) = (fog) (x) and
P(x) =(gof) (x). Then, on the set R—Z :

(1) both & and W are continuous.
-

(2) neither ¢ nor { is continuous.

(3) ¢ is continuous and ¢ is not

continuous.

(4) ¢ is continuous and ¢ is not

continuous. 9
S
\ " R\ LI S %
< r‘l
Let y{x)=(1 ) (1 \'2_] (I4x*)
R b {i Y L.
w(1+x7%). Then — at x = —, is :
dx 2

édz l (jn\i'u;(ﬁw
(1) 1—65[1]62 el L S

N M

11.

AT f(x) = [x] T [x] 1 31 € : x & SR A
x ¥ FH GaY T YU,

0 xeZ
g(x) = .\’2 , xe R—1Z

Z qUiishi 1 W= B, d(x)=(fog) (x) T
U(x) = (gof) (x), M TI=HIR—-Z W :

(1) ¢ TG THI Haa B |
2) TA TN TR Y Taa T

(3) ¢ Had € quTy Had T ¥

(4) §Taq & a1 ¢ Haad T T

1 64
(4) 4—63[5)
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L E@' 16,19
! L\&% \l‘ .Jb/ L’-’ %
13. ! e maximum value of - f(x)=2sinx + sin2x &1 1
f(x)=2sinx +sin2x, in the interval AfIFaH °H ?;' !
3
[ ' E""J lH." %\ ({' )\3 2[ o '}C{‘)'l‘&
\ ) e 1 .’?;'L ;
0 @+ @ Og= *4 2 M) V31
> s CE‘ h} b -‘ blﬂ .
L/f?:) 23 *__ ‘ 2) 243
3J3 | —Y ‘“ e _ . 33
(3) 3 ' R e (3) =
2 - Y 2
A
@ 3 =By
> _',qfn)(_'__J_(* "Drl/ - 3
(@:Q(P l-fﬁﬁf%’\
)a G- 53 ) 2 2o
14. B ic-;— dx =Alog |x| + 14. fe J. -dx =A log |x| + 17.
\'(1 e (l G i
B iog |1+x?]| +C, then the ratio A : B is Blog |1+2x7| +CETMNA:BH S REIN] 2
equal to :
(1) 2:9 (1) —-2:9
@ 2:9 (2) 2:9
(3} 9:~-2 3) 9:-2
4 9:2 4) 9:2
1 1/ 18
/2 : iR /2 Xy .2
15. The integral _[— t-(-?-——J-)—if dx is | 15. HHIG J— = (,2_ 2, l dx 9UE
0 (1 - ;L)-;E (1+ X )/ 2 0(1— x)Y2 (1+ x)2
e Sy 2
equal to : ( " _ X) () - Mg 73 o
1) 3e at \ 1) e
- i €&
(2) Ve -1 (2)  3e -1
le e
5 ,
©) 43 G 43
E o
- =1 — —1
@ |3 @ | _
\
W/ Page 6 SPACE FOR ROUGH WORK / T% &1 & o simg
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16. The area (in sq. units) of the region | 16 &% y = Jx @ @e y=0, y=x—2 g1
: T bounded by the curve y = Jx and the f g &3 &1 AFhd (T ECAERIEED) 2

lines y=0, y=x—2, is :

10 10
1 = 1) 73
8 8
@ 2 @ 3
4 4
@ 3 f/ ®) 3
16 o 16
@ 3 SIS @ 5

- qalcs

17. The general solution of the differential | 17. ofa®a FHHW y dy+ 1 + y2 dx=0 =T

. equation y dy + \/14—1,'5 dx=0 represents e gl {7 9 $ed ! frefia &L @
; a family of :

(1) circles. (1) gl

(2) ellipses other than circles. (2) el (i & fgan) |

(3) hyperbolas. (3) afarae] |

(4) parabolas. (4) R |

18. If the points (x, —3x) and (3, 4) lie on the | 18. afg forg (x, —3x) 941 (3, 4), @1 3x—4y=8

: opposite sides of the line 3x—4y =8, w1 forda feenedi # €, 1 :
then :
i | I>—8- 14——8 1 x>i 1<:—8
1) 15 Y75 : 1) 15" 75
2 \'>§ l>_—§ % ) x>_8_ 1>:_8
@ *¥>3 V773 @) 5 ¥ 5
3 x/}<—8— 1<_—8 3 1‘<§_ 14:_8
y/ 15" 7" 75 @) *<15 Y=75
4: ‘\'=_8_ —_-:_8 4 r:E l=;—8‘
@ *=15 ¥~ 75 @ *=35 7775
— |  W/Page7 SPACE FOR ROUGH WORK / T% &4 @ e se §. ,5_3%\
: =8
_ ¢ %D 7} 0,8
HhAo + LA ~Nz25

-.} B "%?D 7)17' /‘; \ %\ o J)%:‘;"\&\ f'_”’\ ¥
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19. The number of integer values of k for which

the equation x?>+y?+(k—1)x—ky+5=0

represents a circle whose radius cannot

exceed 3,is{ p & -

ph _(k;%% 5

1) 5 >

2) 11 N U o 9 .
ﬂ//; 3 U— % +k & 5

@) 5 %? k) _ox &-2\K 0

20. If the line ax+by=2, (a#0) touches the
circle x2+y?—2x=3 and is normal to the

circle x2 +y2—441,r=6, then a+b is equal

to :
~ 4
(1) 3
gy
@
_ — 1
B =
|
(4)

21. The line 2x +y =3 intersects the ellipse
4.1"2+‘:_,r2 =5 at two points. The tangents to
the ellipse at these two points intersect at

the point :

2 9

o (¢3)
5 &

@ (33
5\

® [3%)
5 5

(4) 53]

19.

20.

21,

k % 39 quUiieia Al i gea, e fag
GHIHT 12+ 12+ (k—1)x—ky+5=0 T&H
T g4 frefud s ¢ et B 3 49 ==t

(1) 10
(2) 11
3) 4
(4) 5
Ifg .3\'@1 ax+by=2, (az0), {7

_1‘2+41_(2—2:4:=3 ®1 Y HIE § a9l EL
X2 +1y2—4y=6 F AT &, A a+b T

— 4
W =
B

— 1
() 5

l
(4)

1T 20 +y =3, AT 422 +y2=5 F1
frgel W wfede et 8, A g W
yfrese 4 €

 (33)
@ (5¢)
© (54
o (53)

[ ]
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22. If the point R divides the line segment | 22. 3f foig R, forgail (2, 3) 790 (2tand, 3sech);
joining the points (2, 3) and (2tan8, 3sect); 0<6c< 1; F! foar 9@ Y@rEre #l
™ , ) . ’ i i 4
0 <6 <, externally in the ratio 2 : 3, 2:3 % wTe U § sied 7, 9 R H foguy
then the locus of R is : ?:
(1) anellipse length of whose major axis (1) T CE1 refe former < a1t =1 e
is 12. 12 %1
(2) anellipse length of whose major axis (2) UH THI Sreiga ek &1l a1e1 Y AR
is 8. 82!
(3) a hyperbola length of whose 3) T T Afqmeerd fores ST7yey 318
transverse axis is 12. *f darE 12 2|
(4) a hyperbola length of whose 4) U=H Ty rfqmaey foae dAqaey e
transverse axis is 8. I s 8 71
23. Let P(x, y, z) be the foot of the 23. = fa=g Q(O, 2, 3) | @l
ol =1 z+4 .
perpendicular from the point Q(C, 2, 3) e ! 5 3 TR T A
: x+3 y—1 z+4 .
on the line = e e P(x, y, 2) B

If R denotes the point (—3,1, —4) and A

Ife R fag (-3, 1, —4) W 2 941 A, APQR

\
5

S0 §-yi 4 x (5785 B AN

denotes the area of the APQR, then 2A2 is T &%l ST §, 1 2A2 & ?:
equal to :
(1) 798 (1) 798
(2) 418 (2) 418
(3) 399 (3) 399
(4) 378 (4) 378
W/Page 9 SPACE FOR ROUGH WORK / 1% @&1d & foig we

i)

com
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24. The set of all non-zero real values of k, for

Y = ( z —

which the lines x—4 = =0 _éi_
2 — 2k*

-8 =1
Y - are

4

and —

2k

coplanar :

i— 2
F

(1) is an empty set.
(2) is a singleton.
(3) contains two points.

(4) contains more than two points.

> A

; A A -
25. Letx =2i + j—2kand y =

Y r ?
is a vector such that x-

3y

=
= 242 and the angle between

|iZ X

5 » =

x X ¥ and z is30° then the magnitude

[ — -3 >
of the vector (A' X J;J X z i8:

iy <

24,

25,

k & YA s qH w1 gq=d, He
_\'—4:];—6: z—8

fag Y@ ikl
2 - 2k

\_2:ifr8::£—ll}m%
2k? 4 2 .
(1) U f gq=3 B
2) TF THA 9= B
(3) H AIIE g
(4) A H Afusw sma T

> A A A - A A s
Al x =2i + j—2kdqAMy =i + j B
afe 5 uw @ afew & fF xoz =z,

> —s| *

x| =2y2 qaur x

> —3 " i
X Y q91 z <h dd
i & , — — -
30° &1 &IV &, ﬁm(r X y)X z &l

‘J‘TTHTJT%:

Py

(1)

2 2
(2) % (2) %
G 5 @
(4) 3\2@ (4) ¥
W/Page 10 SPACE FOR ROUGH WORK / T® &Td & fau g
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26.

\/ 010

If p and q are chosen at random from the
set {1, 2, 3, ..., 10}, with replacement, then
the probability that the roots of equation

x2 + px+q=0 are real, is :

| P —4q,7,0.
31 i R AW 4 sl 1oes
(l) _5_{]- (pﬁfi;_}ﬂ‘] PR

ol
[#8

N
(87

In a binomial distribution B(ﬂ, p= 1 1 if

\
\

the probability of at least one success is

9
then n is an

greater than or equal to 0

integer greater than :

9

; 1 — logy09
D Jog, 4 + log o3

1
©3) logmfl - logmff-

1
(4) logg4 + logy3

Ife padqag=I4 (1,2, 3, ..., 10} ° 4 ag=a9,
FHIER 22+ px+q=0 % ¥ adfo &,

B
31
(1) 50
9
@ 5
29
G 5
13
@ o5

i ' 1 i .
WWWB(H,P-" i 4, gfc &9 4

0

FH U TEA i IIHT f'ﬁ%aﬂm?ﬂ

1
sifyes €, 1 f91 9 9 quiieh n fohed @rgi 3 ?

9

1 — 108109

2 .

1
(3) logg4 — 108103

1
(4) logjp4 + logy3

W/Page 11
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28. The number of points, at which the two 28. oA fag?’ﬁ ! TEAT SRl A TR Y= 99 GRS
curves Y = 9\—() and y = sinmx intersect, is : y=sinmx Yfasse 4 T, §
(1) 99 (1) 99
(2) 199 (2) 199
(3) 198 (3) 198
(4) 200 (4) 200
29. Two vehicles C; and C, start from a point | 29. I 8T&7 C, 441 C,, Sl U &l fag P H Ya |
P and travel east of P at the speeds 3R aE: 20 fo.H. /¥ a9 60 fo Al /5@
20 km/hr and 60 km/hr respectively. If F TG T T ARY F B | FfC U YT,
. observer, one kilometre north of P, is S PHE 1w, W F AR T, A T &
\’w f & able to see both the vehicles at the same % ¥ 999 W T@ UFA §, 9 9&F g
< / time, then the maximum angle of sight CI R C2 Fl 2@ T F99 FTd R F
;\'\b between the observer’s view of C; and C,, fereras 7 € -
--I\I_,f - is : \\ /(r 0 T
oy T_T | LN _ T
o ) n 3
\ o ‘I
1 2 ) ) A if 2 )
(2) tan | —= | : (2) tan |
(V3 ) - L /3 )
)
2 3 T
(3) 6 (3) 6
(4) tan™! 3 (4) tan” (V{—1
2 | 2
30. The statement 30. YA
[PA(P—>9)]—q, is : {p»(p >q)l-q :
(1) a fallacy (1) T TE9NE (fallacy) &4
a tautology (2) W& gAG(EH (tautology) g
(3) neither a fallacy nor a tautology 3) @ TN € AR A & T Tl
(4) not a compound statement (4) T& "gF (compound) FAT TR g
W/Page 12 _ SPACE FOR ROUGH WORK / 7% &4 & g e

p o (1o Do

P\ Y|1oa )| eale ‘7"‘:)) e~ (03 1 0
L 4 T 1
tlelt | ¢ | -

Fledt | F 0 T
w‘——-—

32,

33

% collegedunia:

India’s largest Student Review Platform




Part II / 417 II

S

5 T Aptitude Test / 3tfr&fa udteror
31. Houses located on whichslopesin hillswill | 31. T&€l ¥ FaMl & Afdal & fod IR #1 ga™
l oet more sun in winters ? T, FEI CARGICED g9 e ?
. (1) On slopes facing North (1) YR hi TAH IW &l AR A
(2)  On slopes facing East (2) YR i TAM Y &l IR A
(3)  On slopes facing South (3) RIS T BAM &0 &1 AR 7
| (4)  On slopes facing West (4) TRIE ® T UEH H SR A
- 32. Famous Akshardham Temple is located | 32. 9fEg 1emem Af<T Fel feud 82
% ;H at -
o (1) Mathura (1) T
DMT (2) Ayodhya (2) e o
il ! (3) Kathmandu (3) THISHIG o
n?:{ (4" Delhi 4) feoeft
F
33. Mohenjodaro and old Jaipur are planned | 33. HETSIqIEl 3R WA AR &1 710 fohd T
on: 3nYTfE 82
(1) Radial pattern (1) fF (Radial) Tod @
__(2)  Grid Iron pattern 2) fue amE e =
(3) Linear pattern (3) @I (i) Yed W
(4) Organic pattern (4) HE Ted |
34.  Which one is the oldest structure from | 34. TF=fefEd § 9 Ga9 AT @A (structure)
amongst the following ? HH-H1 §?
(1) Panama canal (1) 9™ TR
(2) Ajanta caves (2) TSI I THIEV
(3) Pyramids of Egypt (3) foa & faufre
H_L'%)’/ Parthenon of Greece (4) & W
35. Which one of the following is not a | 35. Ti=faf@a # 4 Fi9-w FErFHIUN
renewable energy source ? (renewable) FSTl %1 €A &l © 7
(1)  Wind power (1) 999 Sl
(2) Solar power (2) ER Zer
_(3) Fossil fuels (3) A gEM
J (4) Tidal waves (4) vET @t
W/Page 13 SPACE FOR ROUGH WORK / 1% &Td & faT g
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36. Ozone layer around the Earth prevents

penetration of :
~1

Q) "Ultra violet rays
(2) Sound waves
(3) Excessive heat
(4) Infrared rays

37. Red sand stone is not used in :
(1) Red Fort
(2) Fatehpur Sikri
L@,/;f'aj Mahal

(4) Humayun’s Tomb

§ 38. Inthe Northern Hemisphere, light entering
' from which side of opening in a room is
more uniform throughout the day ?
(1) South
(2) North
(3) East
() West

39. Which place in India has French influence
in Architecture ?
(1) Goa

~Chandigarh

3) Pondicherry

(
(4) Andaman

40. Which amongst the following is more

earthquake resistant structure ?

(I) Brick in mud mortar
@/"Brick in cement - sand mortar

(3) Steel frame

(4) Stone masonary

36.

37.

38.

39.

40.

geat & R AR, ASE #H w, e T

A Jee 22 1
(1)  9UETET foheon =i
2) e g A

(
(3) srcafys THi
(4) 3t forvoll &

T A TR 1 WA e e |
(1) @ foed |

(2) e HiEwd H

(3) dHEA H

(4) TAE F kel §

ﬁﬂ?ﬂmﬁfﬁ,wm’{ﬁ'msﬁiﬁmil 4
A g U], WRI fe et O waE it ? |

(1) <feo g
(2) IWH
3) Y4
(4) ufvem |

IRd § -G T8 gl aregehen 4 wenfed

)

(1)

@ |
() wERd

(4) STeHM

fr=ifera ef=l & @ - aifaw y&q ‘|
Ukl & ?

(1) TR A g 1 e aren

(2) e, W & TR | T F oA e

(3) ¥ia F ¥y T

(4) TRl &1 R ara

W/Page 14
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AT TR 2

% v |

78?2 |

J4iferd

T &)

41. What causes Tsunami in an ocean ?
(1) Ocean Currents
(2) Trade winds
._/(8)/ Earthquake on sea bed
(4) Ocean Tides
42. Eiffel Tower is made of :
(1) Bricks
(2) Concrete
_(3) Steel
(4) Stone

43,

44,

o

45.

Maximum amount of fresh water in our
planet is trapped in :

(1) Lake Eirie, US.A.

(2) Lake Victoria, Africa

(3) Polar caps

(4) Dead sea

Burj Khalifa is located in :

(I) Oman
(2) Abhu Dhabi
(3)" Dubai

(4) Saudi Arabia

Which type of roof will provide maximum

protection from heat radiation in a

building ?

(1) Painted aluminium sheeting

(2) Concrete slab with plaster

(3) Concrete slab with mud and brick
tiles

(4) Concrete slab water proofed and
covered with a roof garden

41.

42,

43.

44,

45.

HEETR H GATH 31 1 1 RO Q2
(1) WEFErR ¥R (YaTe)

(2) fasdt (Trade) gamd

(3) WER T W o

(4) THST SRR

ATEHA e §71 ® ¢

(1) 49

(2) W

(B) ®ad

(4) TERE

TR T W wad afus Yo U (S9) wRl
SHI R ?

1) ¥, g

(2) o fawRifn, srhe §

(3) e Afwar 4

(4) 9d (Dead) MR H

(1) AHEH
(2) @ ot |
3) gEH
(4) UI<l oS H

TS 3URG 1 o1 fafromr € sifeehan qean
% fau forg T &1 Bd &1 ¥9T HA 16T ?

(1) e =i g8 Lqfaf=m =R ard
(2) W(plaster)mﬁﬂmlﬁﬁ
(3) TR AR ¥ Tl A F WY HHIE
(4) SUF W TH g A VuF Fwie wid

W/Page 15
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Directions : (For Q. 46 to 48). The problem figure shows an object. Looking in the direction of arrow,
identify the correct elevation, from amongst the answer figures.

&9 : (T 46 W48 & ) T SFIT | T o Bl e T &1 dk w1 fewr 7 dwd gu s
SFlT 4 4 59%] Gg TE gvg v

Problem Figm'c / T 3Fd Answer Figures / 3 3%7?:'7%27f

N
=

@

46.

F

2
i-\\l ..... | x/ 4\\._ /_/_\_\ ‘
48 | [ |
4 ‘ [V N ! = l—l __J_ I_\\ /_I_J}l A N
| t__ E — 4 —— T—1 £/
y 0 o ok @

Directions : (For Q. 49 to 53). The 3-D problem figure shows the view of an object. Identify its
correct top view, from amongst the answer figures.

F&9T : (.49 @53 & g ) 3-D 797 STgld § T avq #! @ 1 &1 g9 98t S gvy
ST HArHaal 5 G Tg=

Problem Figure / %7 3Iid Answer Figures / 3 3Hagr

[T 1] N - ]
%2 E_H [L ; ’—\ ] i
@ L/ 0 @
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farrow,  problem Figure / T SHIA Answer Figures | ST Srgladl = =

res.
50. *
i l Hi
3) (4)
j ]
i

ftl=——ir ==

= B B OB

) o ®) @

]
S
i [ ] H
L () @ Cd @
zv7]
- -
% 5% i ol ,
o) ® w
i W/ Page 17 SPACE FOR ROUGH WORK / T® &td & foq s
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Directions : (For Q. 54 to 63).

39T : (W. 54 @63 & faaw)1

Problem Figure | Y97 3l

'gr\

57.

&
)

The 3-D problem figure shows a view of an object. Identify the correct

front view, from amongst the answer figures, looking in the direction § 5

of arrow.

3-D ¥¥7 3Fld 4 U 9% F TF 599 &) @ T &1 ik 1 e %

Answer Figures /| 3 st ?

(1)

\4,127/'

= |/

(3)
7 B

:’—l—] 61.
® @)

3) )
==}
3) (4)

W/Page 18
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Problem Figure /| ¥4 37l Answer Figures /| W &ﬂ?ﬁ?ﬁ

59. \\@/J I - i

60.
61.
62.
63.
[
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Directions : (For Q. 64 to 67). Which one of the answer figures is the correct mirror image of the &8
problem figure with respect to X - X ?

R : (W 64 @67 % forg)1 I rpfadl & @ wi7-91 el & 7T 797 T # X - X

a7 gfafa & 7 '

Problem Figure |/ 397 3l Answer Figures /| ST 3Ftaar

X

Eﬂ

64. |J7_u, -

X (4)

68.
X
e | ey R e
i | oo Ty Coo [ |
« B | IS S i) fc
X 1y~ @ ® (@ 69.
X
=0 i \%

66. @é ) ]

; L @ ©)

X
67. -

i M @ G

W/Page 20 SPACE FOR ROUGH WORK / 1% &Td & feq e

collegedunia:

India’s largest Student Review Platform




Directions : (For Q. 68 to 70).  The problem figure shows the top view of objects. Looking in the
~ direction of arrow, identify the correct elevation, from amongst the

answer figures.

Fdor: (T 68 070 F RIT) 1 797 ol & axgeil &1 S9%) §v fearar 7 &1 R 1 fown H e
8T ST AFEl § G 9% Tel G §v AT/

Problem Figure / 337 STl Answer Figures / 3t WW

@)

GO
o 0] Fl il At A
1) @) €)

- =l
o 00 O
(1)

m@ﬂ m@mﬂ

2)

) 6y )

Directions : (For Q. 71).  Which one of the answer figures will complete the sequence of the three
problem figures ?

\ T : (2. 71 % feg) 1 IR AFlod 4 Q@ wi-dt SFlT F 77 F9T SFaE 4 o G TR
' (sequence) T g1 ST |
Problem Figures | H¥7 3?7?)‘)'?!27?' Answer Figures / 3T Sﬂ?g'?ﬁﬂ?f'

, < <

50 o ‘@

; as ZI% N HHO <X)

71, NZAS O » @)NV ‘éﬁi

BN
NZS
O Xy ¢ NS 7 v
) )1%)*( © w/

W/Page 21 SPACE FOR ROUGH WORK / & &Td & fog s
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Directions : (For Q. 72 to 76). Which one of the answer figures, shows the correct view of the 3 - D
problem figure, after it is opened up ?

FE9r: (@72 @76 F W) 1 3-D 997 373l &1 @erd i, WW‘?@WW@?%&;"

e i
Problem Figure / Answer Figures / 3t 377}‘/%[27?' i J
} 74,
. - - I
b i i : |
» (o Do) G ] ]
x O ;
(1) (2) (3) (4) 75

: PR,

(1) (2) (3) 4)
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f the 3 - D] Problem Figure / Answer Figures / 3T Wﬂf
i
|

97 31l

?g‘garzﬁjq_

J‘H_L'I
[ ]
R
[ =:Tic]id]

(L i 5 R

=
=
S

[
I

v B

(1) (2) 3) (4)_
L [
J i [ [] (
| I L L L i n L M i iy
75. [—_LD? ‘- mE i 1 LV C +_"l
g H - :
(1) (2 3) (4)

]

[T
LT
L]

[

i.0 b )

1) 2) (3) (4)
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Directions : (For Q. 77 to 80).

FRQer: (W77 @80 % fw )1
Problem Figure / 397 3frla

Find out the total number of surfaces of the object given in the problem

figure.

JvT 3qpId A 13T 71T g 3 Tael BT FoT G FIT FHIT

on

4) 24
£2) )
,‘:\.;* __:.__‘.‘ F
\//,f{: A x 3
(3) 20 @)/ 17
/,avj 17 4) 18
13
N
©®)17 4) 18 J
-00o0- ‘I
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